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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 7,160 12,354 A5,194
O2s0l dEAE &X 7,160
= 3,580
< 1,074
[ia 2,506
S50 etd &gl 181,800 182,839 A 1,039
101 124l 171,800 172,839 A 1,039
04 JI2ZtH 22 EE = 171,800 172,839 21,039
O2s=0| et ae Ry
68,720& * 209 = 1252 171,800
201 et 10,000 10,000 0
01 At 22l 10,000 10,000 0
O=2s0| etdzZe| ¥ 1= & &l
200,000& = 209H 4,000
Oss0| ctxze E22HE 3,000
OS=s0 ¢dEZ 78 3,000
=0 YIS ESF 7Y 7,545 1,700 5,845
< 2,110
s 5,435
201 Let24E] 7,545 1,700 5,845
= 2,110
s 5,435
01 At 2t 2l 7,545 1,700 5,845
O2s0 dEFRSES # 7,545
= 2,110
s 5,435
ANEXsdMe 29 () 25,640 33,640 A8,000
201 et 11,000 13,160 A 2,160
02 2324l 11,000 12,560 A 1,560
OXNdXsdMta 28Iy
55,000& = 2004 11,000
301 LEAZ 1,040 1,040 0
09 HALAHIXI &3 1,040 1,040 0
OXNSXsUME G 3 2A&A Lo
8,000& = 30¥ 13 240
OXNAXEsLdHet nsdgFs 2at
0,000& = 109 = 23] 800
307 glz2tol & 13,600 17,840 N4,240
02 QIZtE A AHE X 13,600 6,000 7,600
OXdXsLd M= K& 8,000
OXNAXNESLHEt s ZA =F
300,000& = 23l 600
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< 2,000
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OXNETsd WS HHUHS Ssted 2,000
< 2,000
SNMHUS SEEH(HHSIIEHA) 9,008 16,250 NT,152
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2AM: otXMAL D
Mz TH
Chelr THEHOH = 22

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
= 28,000
= 12,000
405 XHAHE S 40,000 0 40,000
= 28,000
= 12,000
01 JtAY = ZF SHI 40,000 0 40,000
OMUReINe SSME 25 40,000
= 28,000
= 12,000
THOHCHZH 22| 237,347 320,767 N 83,420
& 9,160
= 228,187
Moo 24 41,176 40,976 200
201 LEt2AY| 32,600 32,600 0
01 AFR2t2l bl 30,600 30,600 0
OlNdis=s=+ &4 gz 20,000
O =2 &8¢ 60,000& * 208 1,200
OEE H2E Mooy =22 M
500& * 4,800% 2,400
OXNHAMHGZAL £ S2AHE XM HEH
35,000 * 40% 1,400
OXNHAMNNREEEZTHS2E HA ME
40,000& * 40% 1,600
OMt2HAEI H 2| 1,000,000 * 43| 4,000
02 352494l 2,000 2,000 0
Ost=8E 3yl 1,000,000& = 13 1,000
Osgt=5t& & 3l bl 1,000,000& = 13] 1,000
202 04| 7,776 7,776 0
01 2LHOHI 7,776 7,776 0
OMaegg: =& 7,776
203 &R =&H| 800 600 200
03 A =X SR =XAH| 800 600 200
OMaHAIZH F=&X 800
MoeEa XI& 3,000 73,000 A70,000
302 Ol =L 2 & 2 3,000 73,000 A 70,000
02 A2t THOHL E PR ESE M= 3,000 73,000 A70,000
OMofogy & =572 24 3,000
EZ400 BE(EX) 18,320 11,000 7,320
= 9,160
= 9,160
307 QI2t0| M 18,320 11,000 7,320
& 9,160
= 9,160




SA: QEALD

M MWL - THoHOH 2 St

CHRl: THOHCHZ 22| (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
06 282 18,320 11,000 7,320
OZ2of 282 A4 18,320
= 9,160
= 9,160
Z501 E(XA) 500 1,440 A 940
201 2Et2Hy| 500 1,440 A 940
01 AP 2t 2] H| 500 1,440 AN 940
EZE40lE2EEg EE2ES HZE 500& = 1,0008 500
THoHollB Al - &H 29 150,451 150,451 0]
201 et d9d| 150,451 150,451 0
02 E=22%H| 150,451 150,451 0
OMLH ol - HdE2AE 3z 33,240
-2 XHAIX &
500,000% * 1A ~ 128 6,000
-MSAIEE 7,0008 * 8 x 12€ 672
-MdIIAEZ 8,000& * 15004 ~ 12€ 1,440
-OIgH4Yl A= 30,000 * 54 « 12€ 1,800
-COMA AlE & 20,000 * 400HA * 12€ 9,600
-M23 48 A2 88,0008 * 130 x 12€ 13,728
OMH ol - HdE2ANE KANES 117,211
-NSsSRHFHAB AL 1,358,760,000& « 7/100 95,114
-MYH2 X 82o 57,150,000& = 7/100 4,001
-4 55,000,000& * 7/100 3,850
-MH™EE CCTV 45,560,000 = 7/100 3,190
-ANSSESEAAE 43,480,000 ~ 7/100 3,044
-NEIIESE HSD| 78,729,000 * 7/100 5,512
-XE&IEE A2 22
25,000,000€ = 10/100 2,500
B = DN DV =Sy | el 5,000 20,000 A 15,000
206 M = dl 5,000 20,000 A 15,000
01 X2 Hl 5,000 20,000 A 15,000
Ox=YXMHs7 2L 5,000
= of [ = 13,900 18,900 A5,000
201 et 13,900 18,900 A5,000
01 AR 22l ] 13,900 18,900 A5,000
OZ&EUd 22 H&E 10,000
O3 1,300& * 10t * 53 * 60 3,900
K| & CH=H 5,000 5,000 0
201 2Et24H Y| 5,000 5,000 0
01 AP 22| H| 5,000 5,000 0
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L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| | OX¥UH £28 M 5,000
Mol & AdtE Hb| 10,452,602 10,677,430 A 224,828
Aot FHl 2,790,602 6,052,430 A 3,261,828
401 A& HIZ 201 8] 2,790,602 6,052,430 A 3,261,828
01 A& HI 2,780,000 5,440,000 A 2,660,000
Odlar 2b&= AotA Al (180m) 150,000
Odldr 2=X2 Aot Al (65m) 70,000
o2 ZX4& Aot Al (500m) 180,000
Ozs 25 A56t& FHl(250m) 75,000
OZE &Jj2 Aot &Hdl(250m) 125,000
O&FA =2 A5tA FHl(250m) 200,000
O&H SEl AckE HbBl(130m) 100,000
OHZE =2 A5tA FHI(120m) 100,000
OHE ZLH A56HA FHI(100m) 100,000
OZ4 URH Aot Al (140m) 100,000
o2 s94=z 446t& Fdl(200m) 70,000
O2g M2 A56tA &4l (200m) 200,000
OFA 22|23 Aot Hul(700m) 300,000
Oxa 2™ Aa5tA Yl (130m) 130,000
OFet SAIS Aot Hul(100m) 50,000
OHOF 0lS A56t& FHl(140m) 70,000
O&Feor &t ActA Al (180m) 100,000
OAtel Z& A36t& FHl(270m) 200,000
Oaz% L5 £A56t& &4l (70m) 30,000
Oxzx A4 A36& FHI(100m) 100,000
O2& M= £5t& Fdl(100m) 80,000
O23d &g Aot Al (260m) 100,000
O2d <& Aa6tA &Yl (150m) 150,000
03 A& S THHI 10,602 12,430 21,828
OAGHEEHl A& OHI(0.36%) 10,602
A5t8 R - B4 186,000 201,000 A 15,000
401 AIEHI L 20| 186,000 201,000 A 15,000
01 A&l 186,000 201,000 15,000
OBt RXE4 100,000
OASHE Z& L +2H A 85,000
O26t® DI2EX 24 1,000
3 AGHE HUI(HEAY) 1,131,000 0 1,131,000
401 Al HI YL = THYI 1,131,000 0 1,131,000




EXN: otE2AL D
Hu: G- WO Sane
e THoHRE AolE A (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 1,131,000 0 1,131,000
O&= Adld HH|(HMEH) 1,131,000
OFZ AGHA HHI(HE)(HEAY) 1,293,000 1,000,000 293,000
401 AlEHIZL 2 0HY| 1,293,000 1,000,000 293,000
01 Al& H| 1,293,000 1,000,000 293,000
Oerts A5t Al 1,293,000
Otols AQHA HH| (X&) (HEHALY) 1,000,000 768,000 232,000
401 Al HI L 2 0HHI 1,000,000 768,000 232,000
01 Al& H| 1,000,000 768,000 232,000
O2LU2 otpls AGHE FJH|I(H&) 1,000,000
OHOI=2 ASHE HH|(MEH)(HSALY) 450,000 872,000 A 422,000
1T AIEHIZ 2L 450,000 872,000 A 422,000
01 Al&H| 450,000 872,000 A 422,000
22 0j0l= Aotd A 450,000
A0t AH SEAHE =€ 3,052,000 0 3,052,000
207 I & 3,052,000 0 3,052,000
01 g E | 3,052,000 0 3,052,000
OUsZ Aol EH SEHE HAE & NEE
Al 3,052,000
2z Aotd HH|(XHEH) 400,000 0 400,000
AEH L 20| 400,000 0 400,000
01 Al&H| 400,000 0 400,000
2 Aotd HH| 400,000
281 AGHE ZH|(H&)(HEAIY) 150,000 0 150,000
401 AlEHIZL 2 0HY| 150,000 0 150,000
01 Al&H| 150,000 0 150,000
Ox=&1 A6t &AH| 150,000
THoll 2 &otd Al 17,600,000 9,758,000 7,842,000
= 8,800,000
= 2,640,000
= 6,160,000
OOl ™ THOH R EIMHA X 7 EHI ALY 6,000,000 7,018,000 A 1,018,000
= 3,000,000
= 900,000
= 2,100,000
401 Al HI L £ 0HHI 6,000,000 7,018,000 A 1,018,000
= 3,000,000
& 900,000
= 2,100,000
01 Al& H| 6,000,000 6,218,000 A 218,000




AN AL D
A THE - THOHOH = B &2t
&2 Mol &ot® Hl (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Oetold THol IS E X+ FHI 6,000,000
= 3,000,000
< 900,000
s 2,100,000
2Z oA EMEX T ZHIAY 2,000,000 800,000 1,200,000
= 1,000,000
< 300,000
[ia 700,000
401 A& HIZ 201 8] 2,000,000 800,000 1,200,000
= 1,000,000
< 300,000
[ 700,000
01 A& HI 2,000,000 800,000 1,200,000
O%E MollASEHLXF EHl 2,000,000
= 1,000,000
< 300,000
s 700,000
<& HoHAE ML X2 ZHIAY 1,600,000 500,000 1,100,000
= 800,000
< 240,000
s 560,000
403 UHXSHHSA=0l& 1,600,000 500,000 1,100,000
= 800,000
< 240,000
[ia 560,000
02 S 2S0Het A =H 2 & ArS 1,600,000 500,000 1,100,000
O+2 MollAFMLEX T ZHl 1,600,000
= 800,000
< 240,000
[ia 560,000
Sclk7 Ssold283 SSEFH ALY 6,000,000 1,440,000 4,560,000
= 3,000,000
< 900,000
e 2,100,000
401 Al HIZ 2018 6,000,000 1,440,000 4,560,000
= 3,000,000
< 900,000
s 2,100,000
01 A& HI 6,000,000 1,440,000 4,560,000
O=cl Sxofldgd S 6,000,000
= 3,000,000
< 900,000
[ia 2,100,000
MEXT SMEd SSEUAMY 2,000,000 0 2,000,000
= 1,000,000
< 300,000
s 700,000




A A AA D
M THY - THOHCHZH =& atel
Ee: MolAEatE H| (&2 &)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
401 AlEHIZL 2 0HY| 2,000,000 0 2,000,000
= 1,000,000
= 300,000
= 700,000
01 Al&H| 2,000,000 0 2,000,000
Otlg SxolMEd S HH| 2,000,000
= 1,000,000
o= 300,000
iy 700,000
oS3 AMA SUAE NP Hd| 2,000,000 0 2,000,000
= 1,000,000
& 300,000
= 700,000
S ALK ZIJIIEAAE 2= 1,800,000 0 1,800,000
= 900,000
& 270,000
= 630,000
401 AlEHIZL 2 0HY| 1,800,000 0 1,800,000
= 900,000
T 270,000
= 630,000
01 Al&H| 1,800,000 0 1,800,000
OLLEXNF SEAX ZINEEANAE 2= 300,000
= 150,000
= 45,000
= 105,000
OK6tA 7 S2EAK ZINFEANAE 2= 300,000
= 150,000
& 45,000
iy 105,000
OF&XN T SEAX ZINFEEANAE 2= 300,000
= 150,000
= 45,000
= 105,000
OFEXNT? AKX ZINFEANAE 2= 300,000
= 150,000
o= 45,000
iy 105,000
OMEX 7 SEAK ZINEEANAE 2= 300,000
= 150,000
== 45,000
= 105,000
OWUHEX P SHAK ZINFEANAE 2= 300,000
= 150,000
& 45,000
iy 105,000
LEXNT SEAA SURKAE XS HH| 200,000 0 200,000
= 100,000
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SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 30,000
= 70,000
401 AlEHIZL £ 0HY| 200,000 0 200,000
= 100,000
&< 30,000
= 70,000
01 Al&H| 200,000 0 200,000
OLEXNT SEAA SUKAEXNE AHH| 200,000
= 100,000
& 30,000
= 70,000
THoll /& X2 A 20,000 20,000 0
Moll/I& XY A2 20,000 20,000 0
401 Al HI L £ 0HHI 20,000 20,000 0
01 Al&EH| 20,000 20,000 0
OMKAE XS X2l 20,000
THoH 2 P2 ALS 8,324,353 0 8,324,353
= 4,673,416
o=t 2,013,460
= 1,637,477
7.28.~8.11. sOHEETZ MalERF(EX) 57,050 0 57,050
= 30,130
o= 13,460
= 13,460
401 Al HI L 2 0HHI 57,050 0 57,050
= 30,130
= 13,460
= 13,460
01 A& HI 57,050 0 57,050
OFA 01 =sHE=2214sHd Mol 57,050
= 30,130
& 13,460
= 13,460
7.28.~8.11. sOH=ZEZ MHH=ER2(XA) 40,148 0 40,148
401 AlEHIZL 2 0HY| 40,148 0 40,148
01 Al&H| 40,148 0 40,148
OLr A2 SHEZZ22075H Mol 33,489
O ME sHEZZ303sHd Mol=23 6,659
7.28.~8.11. ARZ2AIE MoH=ER2(XA) 221,304 0 221,304
401 Al HI L E0HHI 221,304 0 221,304
01 A& H| 221,304 0 221,304
OZ2 T& =2 Mat=E32(10m) 3,671
OHE =4 HIAE Mol=2(50m) 12,676
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M T WO Sl
&2 Mol=sE 2 AL (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
OHZE A M HoH=+(30m) 16,517
OHZE &&E 202 MHal=72(14]) 4,844
O&ot ¢ =2 MaH=7(10m) 7,126
OAtel Ate MIE THaH = 5 (50m) 21,511
OAz 4221 M&E Tl =7 (150m) 64,581
OAz 241 ME ol == (200m) 46,767
O=23d dlitg =2 Mai=-(110m) 13,882
O238 2 M Mdi=+(30m) 18,369
O=23d 28 M& Tdoh=+(35m) 11,360
7.28.~8.11. Xg6tA Hl=s2(E2x) 643,286 0 643,286
= 643,286
401 Al HI K 201 I 643,286 0 643,286
= 643,286
01 A& HI 643,286 0 643,286
Os&d Mot== 126,450
= 126,450
O=2%d M=+ 143,050
= 143,050
Ood&d Mot=+ 113,575
= 113,575
O/ A THoH =+ 243,391
= 243,391
OdEdE Molt==+ 16,820
= 16,820
7.28.~8.11. 2& Mai=2(XHA) 178,107 0 178,107
401 Al HIZ 201 Y] 178,107 0 178,107
01 A& HI 178,107 0 178,107
OAtel 012 2=55H Mol = 27,873
OAtel =& Z2=8=d Mo = 92,348
OEF ¢ 2E 188 MalE+ 20,211
O¢Z A2 22354 Mol = 37,675
7.28.~8.11. 2otd Mol =7 (2x) 1,240,003 0 1,240,003
= 620,000
= 310,001
a 310,002
401 AIEHI L 2CHEI 1,240,003 0 1,240,003
= 620,000
< 310,001
= 310,002
01 A& HI 1,240,003 0 1,240,003
OAtel =& A5t Tl = (L=280m) 150,844
= 75,422
= 37,711
= 37,711
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OV= =202 Aald Nol= 2 (L=120m) 50,365
25,193
12,596
12,596
OS2 SAl A5t& MaH=T(L=185m) 82,676
41,338
20,669
20,669
& T ol = 7 (L=155m) 91,917
45,959
22,979
22,979
T ot = 2 (L=400m) 165,035
82,517
41,259
41,259
T o = 3 (L=150m) 125,977
62,988
31,495
31,494
Oxol a2l A5td o= T (L=200m) 80,597
40,298
20,149
20,150
O2e A2 £51& o= (L=170m) 71,379
35,689
17,845
17,845
& THoh = 7 (L=200m) 62,981
31,490
15,745
15,746
A o= T (L=255m) 107,068
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7.28.~8.11. A5t Mol =+ (XHA) 874,456 0 874,456

401 AIEBIZ S CHYI 874,456 0 874,456
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ESEa =N
Tt - THOHCH = S&tate
THoh = 7 Ab el
A B (EA) - MRAY - BES Of &t o4 il
OZe as A6t Mol =+ (55m) 16,538
OZs SXs &Y ActE THoH= 7 (45m) 23,618
OZs 28 Aot& Mol =+ (65m) 27,292
Oz2 W A5ta Mol == (85m) 35,689
Oz &E| Aot THol = (40m) 20,994
O¢E sS4 4ot o= (15m) 3,457
OHE ZX Aot THoi = (35m) 14,086
O¢E ==8 Aotd MaH=-(29m) 17,823
OHE Z& Aot o= (42m) 18,577
OHE 28 A5td M=+ (21m) 18,988
OHE 28 £06td M=+ (24n) 20,948
O¢E &#E AGHE Mol =+ (29m) 25,633
Oxz 25 A0t i =7 (25m) 7,873
Oz N2 Aotd ol = (25m) 10,497
Oxaz 2Z& A5t o= (20m) 23,618
Oaz X&1 A6HE Mol =7 (105m) 24,200
Of= =5 40t Mol == (85m) 26,120
O2d 20F Aot o= (12m) 2,519
Os2d &3 A5td o=+ (40m) 14,205
Oed 28 Aotd Mol =-(38m) 20,539
O2%d ¥2= AGtE o=+ (85m) 26,120
O2d &2 A5t& Mai=+(160m) 49,167
O2% He0l= Actd THoH=+(8m) 3,377
O2g &= A06t& MaH=(25m) 9,847
HE aHel AotE THoH = (25m) 10,497
Meol A& THol= 7 (75m) 20,046
AP AGHE Mol =7 (205m) 21,069
OFH otF A AcHA XHaH=(55m) 25,352
O8d 8 Aot o= (55m) 29,577
OF& WY AotA Mal=-(65m) 29,961
Oo8d Z=2 Aot Mol =+(20m) 31,766
Odd 28 Aotd Ma=-(7m) 39,155
O#eot 84 A06t& THaH=+(35m) 5,541
O#o 0ls Aot THoh = (25m) 11,188
O#eot WA A5H& THoH =+ (55m) 17,320
OAtel 2= Ac6td ol =+ (25m) 7,777
OAtel 8 45ta Mol == (45m) 18,894
OAtel &3 Actd o=+ (165m) 41,645
OAtel erd =2 AGHE ol = (205m) 64,532
7.28.~8.11. tHE Aotd Mol=7 4,334,250 0 4,334,250
= 2,889,500
= 1,444,750
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M T WO Sl
o2l MHol=7A (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
401 Al& Bl & 28I 4,334,250 0 4,334,250
= 2,889,500
< 1,444,750
01 A& HI 4,334,250 0 4,334,250
Odl4 Y ASHA Mol =7 (L=1,088m) 4,334,250
= 2,889,500
< 1,444,750
7.28.~8.11. HAHE AGHAE THol =+ 735,749 0 735,749
= 490,500
= 245,249
401 Al Bl 28I 735,749 0 735,749
= 490,500
< 245,249
01 A& HI 735,749 0 735,749
O=2Z AIS A6H& Mol =+ (L=700m) 735,749
= 490,500
< 245,249
ANESeLAMA =8 149,990 195,700 245,710
< 12,280
i 137,710
NAYLAEHA 2= 149,990 195,700 245,710
< 12,280
[ia 137,710
b=z =4I 108,890 143,200 A 34,310
308 XXIEHSO0IA 53,640 94,000 240,360
V043 L4ER 53,640 94,000 240,360
OAMR4A 22 XA 18,240
-0l =220 224l
100,000& = QHCH = 12 10,800
-t 2R 2323 7,440
ey /A 30,000& = QIHCH = 12& 3,240
- 2ot 70,000& * 5IHCH * 12& 4,200
Oussd K& 11,400
-0 &2 1,000
-Hied RI/8"8 =54 x2 5,400
- 450185 H A 600,000& = 204 = 23l 2,400
1€ EH 300,000 = 5CH = 23] 3,000
-0IMIX OtA3 5,000
Oulbl =z <&a2st 3,000
O Ns 2| 1,000
Osgdgas X 20,000
403 XAXISH M S K201 A 55,250 49,200 6,050
3obZESLEXNINE2EER 55,250 49,200 6,050
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Sel XYM PE CER-ED
SA - FE - BI(EA) - NRAY - By 0l &t San DS
Oussd X 25,000
-2 FO0H/ZH 10,000
-MHle e /EEXE 15,000
OoXNgegad XA 30,250
-BAHAANEE B2 E KXY 9,000
-UXE HEEI ME 14,000
-OXE #HEEI 350,000& * 3504 12,250
-CXE sHEE3] 010101012
50,0002 * 3504 1,750
-EE R8I 750,000& * 7H 5,250
-3 EI F0H/KF XN 2,000
- BIEEDI 900,000& * 2CH 1,800
- SIJIEEI BH 50,0002 * 404 200
ooz S4XJ(EX) 36,800 10,000 26,800
< 11,040
s 25,760
403 XA SA=0l& 36,800 10,000 26,800
< 11,040
= 25,760
BobzZzs&EXINEEL 36,800 10,000 26,800
O=dd Z5/3Hl 15,000
S 4,500
[a 10,500
OO0rZtE Al E 5,200,000& * 44 20,800
< 6,240
= 14,560
OuldlZzedd HM==g 250,000& * 44 1,000
=) 300
s 700
DR S0 (MY E) B2 1,200 0 1,200
405 TtobFH S| 1,200 0 1,200
01 AL EZFH S 1,200 0 1,200
OuE?Il stlyE A=A 1,200
orekel FRIUIAE 2F2tel 3,100 0 3,100
= 1,240
a 1,860
201 LEt2 A | 3,100 0 3,100
) 1,240
i 1,860
02 2324l 3,100 0 3,100
OUIIANE H&&ESE, XS S 3,100
& 1,240
= 1,860
=0 esd 2 471,660 517,272 A45,612
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EXN: otE2AL D
B F0 K9S U
Sl AS=E228 N EHelEE)
N HE - B9 (3H) - HEAY - BA=S ﬁlgﬁ HRE2
AMNIELRR 2Y (ULt A ) 27,865 34,092 NG,227
301 LBt A= 27,865 34,092 NG,227
08B MBI ER2IIEBEAZ 27,865 34,092 NG,227
OMEERRRA 27,865
-3 S (et d)
540,900¥ = 3% x 12& 19,473
-E A HI(LEEH)
6,000& * 3 » 128 * 20 4,320
- S oHl(Lers )
2,600& * 3% x 128 * 20¢ 1,872
I 2 dl(Lers ) 350,000& * 2 700
A ER2QR BAMALESE Il 1,500
3228 2H(AMSIEX) 72,000 72,000 0
301 et A= 72,000 72,000 0
08B MBI ER2IEBAZ 72,000 72,000 0
OMII=EL22H ZSAHI (A=)
6,000 * 50Y = 128 * 20¥ 72,000
I =2RHE X& 281,888 196, 300 85,588
= 281,888
301 et M3 281,888 196, 300 85,588
= 281,888
08B MBI ER2IIEBAZ 281,888 196, 300 85,588
OAMNZIERRE BAZ2 281,888
= 281,888
= FXI XS X O 238,010 266,210 A 28,200
gel 249 230,010 258,210 A 28,200
saEl XA 230,010 258,210 N 28,200
301 LBt A= 130,010 128,210 1,800
04 AIs2HHMHAH XS 130,010 128,210 1,800
OXsgyl ¢eHEs 0kAl] 84,140
- X
7,000 * 4% * 365 « 14404 « 1/2 71,540
-4 Xt
7,0008 * 4% x 150 x 6IHOH « 1/2 12,600
OXsedil 2494 42,570
- X 2,475,000 * 14JHCH 34,650
-4 Xt 1,320,000& * 6IH CH 7,920
OUNE sl MRA M2 S 29
Hl 3,300,000 = 1JHA 3,300
307 QI2t0| ™ 10,000 10,000 0
04 CIZ2tSHALALS B X 10,000 10,000 0
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